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(1) ZE#HEE(v) WTHEOEFICED v =10 %
(2) Bd &8k (m) | ' :
100
m= @2 X SL = 1.25 X 27 = 33.8 N/mf ‘
E->T m = 33.8 N/mf
3)KEA M (W/C) m=-19.1+ 2797 X C/W
W/C =277 =+ (33.8 4+ 19.1) X 100 = 52.4 %
. ' W/C = 52.4 %
(4] ERKE W) STHOERCED W = 170 ke/nd
(5YH A FE(C) C =W+ (W/C) X 100 = 170 = 52.4 X 100 = 324 kg/m
Cyv=C =~ EfE =324 = 3.04 = 107 #/m
(6)2esiE (A) A =45 % X 1000 = 45 2 /m
(7TYEMABHME(G) BTHOEEICLY HEEHE = 05770 m/od ERE = 600 %
Gv = 0.5770 X 1000 X 60.0 = 100 = 346 ¢/
Gl = Gy X 40.0 % X FTEHEE = 346 X 40.0 % X 2.73 = 378 kg/m
G2 = Gv X 60.0 % X KEBE = 346 X 60.0 % X 2.73 = 567  ke/mi
() BENHIFHME(S) Sy = 1000 — W+Cv+Gv+A) = 1000 — 668 = 332 £/m
S1 = 8Sv X 80.0 % X BEEE = 332 X 80.0 % X 259 = 688 kg/m"j
S2 = 5v X 200 % X £EEE = 332 X 20.0 % X 266 = 176 kg/m
(Q) M= (s /a) s/a = Sy ~ (Gv+Sy] X 100 = 49.0
(10) BAERAE (Ad) Ad = C X HmE = 324 X 0.800 % = 2.59 kg/m
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